
© Confidential Intellectual Property of Displayplan Ltd. | Page 1 

Tools Required - Supplied

Parts

1 2

A x1

GARMIN
MARINE CTU - FIT 120CM HEADER

ASSEMBLY DIAGRAM

P11963 MAY 2024

x4
M6x12
D

B x1 C x1
x2

M4x6
F G x1 H x1

D

4 5 6

3

x4
M6x8
E

A x1

B x1

x2
M4x6
F

G x1

H x1

REFERENCE PRODUCT FITTING 
GUIDE ON HOW TO MODIFY TOP 
PLATE TO FIT PRODUCTS.

x10
M6x8

E
C x1


	Slide Number 1

